T a 7 b -~ ¢ 62
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1 a 1226247 b d 205t e (3’ +5)" et
¢ 12r_3 f s g —2e7 h 10%
s s 2x . 1-x
2 200*+18 3 6nt-6: 4 F(2)=101 127+l § Ze+l-e
. kS +4e™) + o™ I e+ 1)
5 a -52° b -g-x_g € —i} e (32~ 2) 2 5
3 x M ———"= n a'e (x+3)
o 1 e 20 2 ff
x P
{ (2x+5)
§§213~ )% b 302x- D@ —x+2)7 2 3
“ (;“ ) (“’"3 Yot -a+2) 3 a ¥n3 b 10°In10 ¢ 32 Y2
P d —— a 5 x+y-1=0
2z =2 (-2 , Y
6 a 3 b —
e 2x e
(et =37 7 a y=2ex—e¢ b x+2-278-1=0
8 a 348 b 24x+4 ¢ 127+4 8 zln4-y+4=0
x2(7r+6) Q@ a i 20627 il 35826
d 4@ -1 +3x-1) mﬁ b i 1044 peoplefyear ii 1240 people/year
. 20 21 ¢ i 1126 people/yvear ii 1361 people/year
9 a - p @2 10 a 55042 e min!
(x~5)° (da=7) . Dy e -
‘ ) b i [428cmmin” #1087 cmmin”
. At o33 g 63423 iii 177 722 205.4 cm min™
(20— 3)? (2049 11 a 20¢g b 7¢
e u—7 ¢ -0.091 g/year
[(22—1)° d i -0147 g/year i -0.051 g/year
10 5 b3 il ~0.0063 g/year
a :
. [ 12 a 66079.4cm b 1321588 cm s
1T a — b -
14 5
12 a Tx-y-24=0 b Stx—y-72=0 B 1 ;
13 a x-4-3=0 b v+3y-6=0 b —— P
X X X+
14 +v=4 ]5 (2$6): (_25_10) 5 15 2
16 3x+y+8=0 17 (4,2) d == e —--35-’-?--i“»3--
18 a 17x-y-3=0 b x+17y+51=0 ¥4 witde-9
2 2 102 + 20+ 5 1
19 a 6 b - ¢ —— foox o) g GriS+—
TR e i1
20 a i 10kgs™ i 17kgs” h -5 __ 645
b i 13kss? i 123 kg fr—9 . (5:“”){35”"1)
21 —2.181)3/{113 j m k "'(1-1-111.‘1‘)4
. _ x 2a— :
22 a i 2m i 1.5m b 2s o *=7) y
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N
ISBN 9780170413367 Answers | F55)

"

#
kS »‘wj
R



n 6[235.1..1_} @ +Ilnx)

&
e l+lnx po e
xZ
2elna+ 20 +1
9 x
3
X 1
r 3 In@+ D+ 5
e+ 1) x+1 xlna

x—2-rlnx

§ L
.96(34'~«~2)2
1
v & -:;an W
) 1
2 f)=-= 3
4 x-2y-2+2In2=90 5
6 -2 7
s
€ Sx-19%+19In19-15=0
0 — 2
(2x+35)In3
10 Cn2)a+y-1-4In2=0
1T a 20000
b i 10.6years ii
¢ P=20000¢% d
e i 447 kangaroos/year

ii 466 kangaroos/year
fii 518 kangaroos/year
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1 a 4cosdx

e sin{—x)

g —20sin (Sx - 3)

i ldrsect (¥ +5) i
k sec (T+x)+ 2x 1

b
€ §sec? Sx d
f
h

e* (2xlnx—1)
2(In :ve)2
10«
x

I
alnl0

Xx-y—-2=0

Sx+y-1n3~-25=0

43.6 years
452 kangaroos/year

-3 sin 3
3sec Ga+ 1)

Jcosx
2 3
—6x” sin (x7)
3 cos 3x—8sin By
2

rsecT -t uany

. 2
m 3 sin 2xsect 3+ 2 tan 3x cos 2x
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sin? Sx
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P
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s

e+ 2 sin 2x t

—45 sin 5x cos” Sx

L cos {1 -Inx)
x

CcCosy

u (+1cos(c+x) v ——=cotx
sinx
w ¢ (3 cos 2~ 2 sin 2%)
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tan? 7x
2 12 3 63x-12y+6-mf3=0
4 -—Sinx:—tan% 5 ~——'-2—-:—-2-~ﬁ
COS X 3J§ 9
6 sec?x ™
7 8x+24/2y-72-n=0
8 Proof (see worked solutions).
9 a juscczxc‘ b - Sina® € — cos &°
180 60
10 sin’ x (4 cos® x—sin? )
1T a 750 b 525 ¢ 975
d 26,64,11.6,154 ... days
e i -136fish/day i 155 fish/day
fii 101 fish/day  iv O fish/day
f0.23,4.27,9.23,13.27, ... days
12 a i 9m i 13m
b 0258122178, ...h
¢ i Omht' §i 36mht i 42mh!
d 1.5,10.5,13.5,22.5,...h
Exoroize 5 O8
T 728 100% + 40 — 1, 42 — 4047 + 124,
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2 7247
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dy d’y
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11 y=4’ - 8x+7

13 floy=a -2l —x+5 14 f(2)=205
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15 _y:%—--l§x—14-§-
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“
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1 1
.S -3 cos Sx ——tan Y + C

4 y= sinx— 5
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2 a L b ¢ 2x 3 y=2
1 1 4 40x+ 100y—25m—8=0
d e
7+ 10 33/x? 5 q o b o3
V36— 22 2 (1= 27)
3al b L ¢ 1 y L5
3 2 3 R — d
d e . L2 V49— 2 J-9x? —122-3
! e i + co -1 f 5 -l ¥
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1 4y 1—x I+ x
4 a —j —
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X l 1
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_ ; \/I—x"[1+(cos"ix+1)“] l+x
¢ (10y—3)(2y-3) i
17 +2-ylny P
d e e JrLTFDY i 3 J 7
(2}14-5]“ _}f(}!.f_Z)z Vox®—4x 1-x
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13

14

a sin@sz., s B=sint 2

6 6
b _0.009 radians per second

G 2tm b 0=wmn! (_E_)
50
¢ i 0.02radianss”’ # 0.0082 radians s~

a 9:m11‘1(5+0-5’J
8

b i 0.033 radians min' i
iii  0.0031 radians min~

0.014 radians min™
{

14 y=22 4627 —5x~33
15 L
53 (x—3]4

16 n

4
wy

i D 2 B 3 A 4 C
¥
$x 1 1
5 a 57 b —2ei-* ¢ v 17 2x+y~-In2-4=0
. I~lnx 18 4x+8y-8-n1=0
1 - e S+ ) f i” yl { )
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& a —sina b 2cosx ¢ secdx d + e 2
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9 ﬁ*w-drcos 2 e }(x+l)sec23xwtan3r
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1 3 2T a 0
10 a b
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10 2 dwl\ 2
— 5‘}..3 )
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11 ¢ 23 a -8 b 26 ¢ —90
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4
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b y 10 a 0=tan @{) b 3°32

Y a =3+ b P=(1+e1)
\ € x—(1+ey=0

12 seczx 1

; a - L= or — b -Injcosxl+C
X 3 \x tanx 51N X COS X
cos(:cSN‘.rt) exz
i3 g ~——+C b +C
3 2
PR B *
/e 2 el
3 (—,0)
, 4 a x<l1.5 b »>1.5 ¢ x=15
3
27 Ax)=2x"-3x" -31x +68 5 F(xy=-2<0 forall x
28 4@*—6\/§y+\/—3‘n—6:0 6 y':3x3>{)fora§]x;t0
7 7 (0,0
3_,4_5: 3 Wi 110 y
29 a %4“6 b (= ;(;) +C 8 x=-3,2
9 a (1,-4) b (0,9
hallenge exercise O ¢ (1,1)and 2,0) d ©1),0,0and (1,0
1 2 10 (2,0
2 o 11 “l<x<l
12 (c0,-5) U (3, %)
4 13 a x=2,5 b 2<x<s € x<2,a>3
4 p=-12
b 0 15 a=150=-6
T
¢ O+--0
2 16 a -3!1—35 6+ 27
¥

2007 — 1200 -1 —24(20x° — 14047 — 32+ 5)
(At (4t +1)°

b The quadratic function has 2> 0
B —dac= 288 <0
4 s ] e‘r + C b —%COS (x‘z) . C SO 33.'2 - 6&,'("{' 27>0 for 3.{3 X,
3
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